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Note : Attempt questions from each Section as 

per instructions given. 

Section–A 

Note : Attempt any two questions from this 

Section in about 700 words each. 

    2×20=40 

1. Discuss the trends of contribution of 

service sector and causes of its rapid 

increase in India. Explain how an 
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‘Integrated Service Policy’ can help in 

solving the problem of low productivity 

and quality in service sector. 10+10=20 

2. What are the objectives of monetary policy 

in India. Describe the evolution of present 

monetary framework in India. 8+12=20 

3. What are the main challenges faced by 

MSME sector ? Describe the policy measures 

taken by the government to provide a 

favourable environment to MSME sector. 

      10+10=20  

4. Describe the important changes in the 

direction and composition of India’s external 

trade in recent years. Will it help in 

reducing the deficit in the current account of 

Balance of Payments ? 5+5+10=20 
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Section–B 

Note : Attempt any five questions from this 

Section in about 400 words each. 

    5×12=60 

5. Describe the concept of ‘Demographic 

Dividend’. How can India harness the 

benefits of it ? 4+8=12 

6. What are the different instruments and 

institutions of state intervention ? Explain 

in brief the need for state intervention in the 

market.   6+6=12 

7. What do you understand by the term ‘fiscal 

federalism’ ? Identify the critical issues in 

fiscal federalism in India. 4+8=12 

8. Describe the trends in production and 

productivity of major food crops in the post-
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green revolution era. Discuss the steps 

taken by government to increase the 

productivity of these crops. 3+3+6=12 

9. What are the environmental consequences of 

economic development in India during the 

last two decades ? Discuss. 6+6=12 

10. What are the major causes of regional 

disparities in India ? Explain the steps 

taken by the governments to alleviate 

regional disparities. 6+6=12 

11. State the social security schemes introduced 

by the government of India. What are the 

main drawbacks and problems of Mahatma 

Gandhi National Rural Employment 

Guarantee Scheme ? 4+4+4=12 
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12. Write short notes on any three of the 

following :  3×4=12 

 (a) Fiscal Deficit 

 (b) Minimum Support Price 

 (c) Poverty line 

 (d) Externalities 

 (e) Human Development Index 
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MEC–205 

LukrdksÙkj mikf/k (vFkZ'kkL=)  

(,e-bZ-lh-@,e-,-bZ-lh) 

l=kar ijh{kk  

twu] 2025 

,e- bZ- lh-&205 % Hkkjrh; vkfFkZd uhfr 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % izR;sd [k.M ls fn, x, funsZ'kkuqlkj iz'uksa ds mÙkj nhft,A 

[k.M&d 

uksV % bl [k.M ls fdUgha nks iz'uksa ds mÙkj (izR;sd) yxHkx 

700 'kCnksa nhft,A 2×20=40 

1- Hkkjr esa lsok {ks= ds ;ksxnku dh izo`fÙk;ksa rFkk bldh 

rhoz o`f¼ ds dkj.kksa dh ppkZ dhft,A O;k[;k dhft, 
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fd fdl izdkj ^,dhÏr lsok uhfr* lsok {ks= esa bldh 

fuEu mRikndrk rFkk xq.koÙkk esa lq/kkj ykus esa enn dj 

ldrh gSA  10+10=20 

2- Hkkjr esa ekSfæd uhfr ds D;k mís'; gSa \ Hkkjr esa orZeku 

ekSfæd <k¡ps ds mn~Hko dk o.kZu dhft,A 8+12=20 

3- ,e- ,l- ,e- bZ- (MSME) {ks= }kjk lkeuk dh  

tkus okyh izeq[k pqukSfr;k¡ D;k gSa \ ljdkj }kjk  

,e- ,l- ,e- bZ- {ks= dks vuqdwy okrkoj.k iznku djus 

gsrq fy, x, uhfrxr mik;ksa dh ppkZ dhft,A10+10=20 

4- gky ds o"kks± esa Hkkjr ds cká O;kikj dh fn'kk 

(direction) rFkk lajpuk (composition) esa vk, 

ifjorZuksa dh O;k[;k dhft,A D;k ;s ifjorZu Hkqxrku 
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lUrqyu ds pkyw [kkrs esa vk, ?kkVs dks de djus esa 

ennxkj gksaxs \ 5+5+10=20 

Hkkx&[k 

uksV % bl [k.M ls fdUgha ik¡p iz'uksa ds mÙkj (izR;sd) 

yxHkx 400 'kCnksa esa nhft,A 5×12=60 

5- ^tukafddh; ykHkka'k* dh vo/kkj.kk dks crkb,A Hkkjr 

fdl izdkj blds ykHk dks c<+k ldrk gS \ 4+8=12 

6- jkT; gLr{ksi ds dkSu&dkSu ls fofHkUu la;U= 

(instruments) rFkk laLFkku gSa \ cktkj esa jkT; 

gLr{ksi dh vko';drk dks la{ksi esa crkb,A 6+6=12 

7- ^foÙkh; la?kokn* ls vki D;k le>rs gSa \ Hkkjr esa foÙkh; 

la?kokn ds vge~ eqíksa dks crkb,A 4+8=12 
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8- gfjr ØkfUr ds ckn ds le; esa izeq[k [kk| Qlyksa ds 

mRiknu ,oa mRikndrk dh izo`fÙk;ksa dh O;k[;k dhft,A 

bu Qlyksa dh mRikndrk esa o`f¼ ykus gsrq ljdkj }kjk 

fy, x, iz;Ruksa dh ppkZ dhft,A 3+3+6=12 

9- xr nks n'kdksa esa Hkkjr esa vkfFkZd fodkl ds i;kZoj.kh; 

ifj.kke D;k jgs gSa \ ppkZ dhft,A 6+6=12 

10- Hkkjr esa {ks=h; fo"kerkvksa ds izeq[k dkj.k D;k gSa \ 

ljdkj }kjk {ks=h; fo"kerkvksa dks de djus gsrq mBk, x, 

dneksa dh ppkZ dhft,A 6+6=12 

11- Hkkjr ljdkj }kjk 'kq: dh xbZ lkekftd lqj{kk dh 

;kstukvksa dks crkb,A egkRek xka/kh jk"Vªh; xzkeh.k jkstxkj 

;kstuk dh D;k izeq[k dfe;k¡ ,oa leL;k,¡ gSa \ 

    4+4+4=12 
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12- fuEufyf[kr esa ls fdUgha rhu ij laf{kIr uksV fyf[k, % 

3×4=12 

(d) foÙkh; ?kkVk 

([k) U;wure leFkZu ewY; 

(x) xjhch js[kk 

(?k) Ckkárk,¡ 

(³) Ekkuo fodkl lwpdkad  

× × × × × 

 

 

 

 

 

 

 

 

 


